-
y A2
P - (ﬁ/w\z

- (QF_
- )(2pn
4,47 )


nsimm
Pencil


) {2

jczfl 2ax _/_c\l—— s
= (mcaay - b
= (3(+ a\+l>§(3<_+f\— 19\

2


nsimm
Pencil


4
qc> 65 e b)
- (( L) (as by *[(&-EQJ

\ {(c&—'—g (C\-Lb\’}
= (0« L

b (0\" 581(4‘ c\{<>>
- 44%(0\\5\



nsimm
Pencil


Cf@cﬁ
4o \Qxﬁ glj %\

~ (21 - 332)(;3( Jrng —zj (212 +_%JZ>
- < 2X145j25<21)_ . ‘3323

= (24 g\ﬁ@x—gj\@ y)



nsimm
Pencil


“de)
/012— 2 sz — 4[92C2
N ( OLI»‘onr Zloc—czyoe—gz_zgﬁ_ 2’>

= <0\1~< b 2
SRADICRICE
i (b9 )
( -L[DC><0‘\\£+Q\<OL4_\;7(-C\<@——1°’C\>

&



nsimm
Pencil


.

4 T2
7N JQL)ﬁLBq—

= o220l L
oy (0\7—4— 51>2_ (0\582
= <0\1 _ ﬁb+bL\<0\l+alo* lol\

2


nsimm
Pencil


A1)
%@\ atoant

= At 4L - 40y
= (a2l C (28

- /az— 2q5+25\<o\l+2“‘9%¢\



nsimm
Pencil




